
PHYS 189 Final Exam March, 2013

Name:

This is an open book and open note test. Answer the questions in the spaces provided on
the question sheets. If you run out of room for an answer, continue on the back of the page.

Multiple choice

1. (2 points) Electric charges can be found

© in discrete levels. © in a spectrum of levels © together in pairs, never separate.

2. (2 points) The electric force and the magnetic force are both proportional to

© 1/r
© 1/r2

© 1/r3

© r

3. (2 points) Gauss’s Law doesn’t work for magnetic fields because

© The poles of a magnetic field are always found together.
© The North pole of a magnetic field has more charge than the South pole.
© The South pole of a magnetic field has more charge than the North pole.

4. (2 points) The electric field is

© Proportional to the charge around a wire loop.
© Proportional to 1/r.
© Proportional to the current divided by distance from the current.
© Proportional to the force a test charge would feel at that point.

5. (2 points) The electric potential energy is a [ ] and the electric force is a [ ].

© scalar/vector © vector/scalar © scalar/scalar © vector/vector

6. (2 points) A real-world wire

© Always has resistance.
© Always has resistance except for very special super-conducting wires which we might not have covered
in class but should have read about in the book. We did read each chapter as we went along, right?
© Only has resistance if you put a resistor on it.
© Has internal EMF source.
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7. (2 points) A capacitor and a resistor wired in a DC circuit will cause the current to oscillate.
© False © True

8. (2 points) An inductor and a capacitor wired in a DC circuit will cause the current to oscillate.
© False © True

9. (2 points) The junction rule for circuits says that

© The input of a circuit junction is equal to the voltage across the junction.
© The input of a circuit junction is equal to the output of a circuit junction.
© The input of a circuit junction is equal to the equivalent resistance of the circuit.

10. (2 points) The benefit of AC electricity over DC electricity is that

© DC can be transmitted at lower voltage and so is not useful.
© AC can be transmitted at higher voltage and so is more useful.
© AC is cheaper to transmit than DC.
© AC is safer overall

Problems

11. An average of 120 kW of electrical power is sent to a small town from a power plant 10 km away. The
transmission lines have a total resistance of 0.40 Ω. Calculate the power loss if the power is transmitted
at 240V (which is ideal for DC) and 24, 000V (which is doable for AC power only). Explain why your
results support the claim that AC power is more efficient. Hint: Relate current to power, and then
current to power loss.



PHYS 189 Final Exam, Page 3 of 4 March, 2013

12. A coil has a resistance R = 1.00Ω and an inductance of 0.300H. Determine the current in the coil if 120
V DC is applied to it; and if 120-V AC is applied to it with frequency 60.00 Hz.

13. A capacitor is wired up to an AC voltage source. What is the rms current in the circuit if C = 1.0µF
and Vrms = 120V at 60 Hz? What if we increase the frequency to 6.0 × 105 Hz?
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14. In the figure above we see a single rectangular loop of wire with given dimensions situated inside a region
of uniform magnetic field of 0.550 T. The total resistance of the loop is 0.230 Ω. Calculate the force
required to pull the loop from the field (to the right) at a constant velocity of 3.40 m/s. Ignore gravity.
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15. A transformer has 330 primary turns and 1340 secondary turns. The input voltage is 120 V and the
output current is 15.0 A. What are the output voltage and input current?


